19 4 5 10

63 19 4 11
8 “4 9 )
(4 11 ) 23.4 ( )
21.7 ( ) 19.7 (
(€Y
1.1 /10 (1.2 /10 )
(16.2 /10 )
0.9 18.9kg(  5.9kg) (0.5 17.2
kg 5.2kQg)
kg 446 3.1 )
(6.9 )
)
kg 446 (3.1 )
(6.9
130.5  /kg( 822 ) 120.0 /kg( 684
) 113.5  /kg( 590 ) 60.9 /kg(
975 )
€))
62.2mm (44 .0mm)
(55.6mm)
(
(H9 18
18 11 5.7 27 29 37.9 101 6.8
(10 ) 05 01 42 14 737| 1850 52.9 320
18 05 47 7.9 62.1 786 308 179
04 03 12 35 7.9 95.2 216 130
11 43 6.3 179 7.2 752 22 134
C ) 11 12 42 72 33.0 91.3 274 16.2
kg 738 157 125 136 0.0 26 8.9 8.8
7.0 6.2 365 57.8 37 53 21.9 177
244 17 01 8.9 16 16 28 162
108.2 6.9 135 355 0.7 12 116 8.4
08 12 39 28 0.0 03 16 15
C ) 446 31 8.9 212 16 20 74 6.9
728 337 51.1 701 777 58.2 57.3
(mm) 49.1 576 371 676 839 81.0 65.4 711
56.8 401 495 52.0 61.2 69.6 545 50.8
485 436 476 53.9 51.0 58.8 51.0 50.3
92.0 57.2 28.1 54,6 57.0 50.2 494 46.0
C ) 62.2 44.0 40.9 58.5 733 736 58.1 55.6
2281| 2315| 2227| 2331| 2336 2403| 2326| 2309
2101| 2076| 2059| 2050| 2021| 2019| 2044| 2027
() 1993| 1838| 1861| 1936| 1634| 1718| 1800 1771

() 1981 2000 20
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